F£6E AMEEFRFEKR—ILBHREFIERS

AR

—RU—J&E1H TR184 8A 3H BRi5: HrERTHA A EEERIE
E—HE BRSARERE 8RF 28% RTER 108 145 HErEE 1B 469
1 2|1 3] 4] 5 6 7 BAER &t RITH
RN TFEEYITT| K 1 0 0 1 2 0 0 4 3
F—IL&Al s#Fx (ol o[ ofof[of]o0o]oO 0 5
XA —ILSAISEERFIERBBTF—L
INYyT)— (X)) hith S AR-BEE R bt
(B €ETE=ZF-EIEHE)
AREIT =847
ZE4T
EF_HE BRUARERSY 108 475 R THERY 128 22% HErFE 1R 359
1 2|1 3] 4] 5 6 7 HAER it TITH
AX@v>57 |(+mE| 0| 0| 0| 0| 6| 0] 0 6 10
AABREKR—LY5T| K | 0 [ 0| o | o | 0| O 1 1 2
INyT)— (530 MHE-AE M
(30 HE FHH EE-BE
RET =847 EH®E)
ZET B FBEK)
E=HE BRSABERT 13K 005 R THRT 148 445 HErEE 1R 449
1| 2]s]a]s]e]| 7] mmEs # | =i
AABREKR—LY5F| HFRK | 0 [ 0| 0| 0o | 0| O 0 2
RERIEICKY6EIT-IN
F—IL&Al BEFE | 2] 0 1 0| 2 2 7 6
INYyT)— (%) FHHBE-BELHE
(B BEHGD) EAK-EHEHE)
REH FERR) =847 FRE)
ZEH RAR)
FmRAE BRZARERY 158 035 R THERY 168 45% HErFE 1R 429
1 2|1 3] 4] 5 6 7 HAER it TITH
AX@Ev>57 |(&mE| 0| 0| 0] 0| O] O] O 0 3
HRAEHTEEISI| % | 0 0 0 0 0 0 0 1 3
INyT)— (%R #IU-E1EGR)
(X)) BHEA-TH
AE4T =284
ZEfT
—RU—J 2R TR184F 8A 4H BRi5: HERTHA A EEERIE
E—HE  FneER 8EF 264 RTHRE 108 115 HErEE 1B 459
1 2|1 3| 4] 5 6 7 BAER &t RITH
AABREKR—LYST| HFRK | 0 [ 0o | o 3 | o] 0| O 3 8
HRETTEIST| & | 2 213|010 1 X 8 6
INyTY)— (%) FHHME LB BHE
(3 #HARER—dit
REH =847 ZF(F)
ZE£47 B5GR) BsdE) Bd(—) (F)
E£_HE FAmeEm 108 48% BRTHERY 128 25% HErFE 1BRE 3719
1 2|1 3| 4] 5 6 7 HAER it TITH
F—IL&Al BE |1 ol o 1 olofo 2 7
AX&EIST |(&mE| 0| 0| 2] 0] 0] 0 1 3 3
INyT)— (B =#TEELIARKEHCG) - BHERXEHE)
(10 B 21U —51ECR)
ARET =84 #Ba%0

ZET KA




